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.The demand for sugarcane is glven by

5976

- Find all the Nash equ‘ilibr,ia.(pure and mixed strategy) of 'the follOu{ing game (you can
“argue and then‘u'se the result that action T is strictly dominatedhb’y‘some mixed strategy of .

S5

where p is the price.. However theré | isa government pnce support program for sugarcane

_ that ensures that the price cannot go under O 25 per unit. All three farmers (each) have hawested :

600 units of sugarcane. Each must make mdependent demsron on how much to shrp to the

market-and how much to dlscard

(b) Are there any other Nash equ111br1a n pure strategy 9

,(a) Argue that shrppmg of whole produce by each farmer is Nash equrhbrlum -
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Five people are willing to go to a concert where only two seats are avallable The first two
to arrive gets the entq. Player i chooses‘t as the amount of tlme he is w1]lmg to wait for
before the concert begi_ns by reaching early for the’tlcket,Her payoff is vi — t; if she gets
- the entry andv zero if after reaching she sees'twe people al_ready in queue. We assume B
vy > Vz' > > Vs, and tie breaking rule is t.ha_t in caee of _Aseme t;, the person With'highef

‘valuation v; gets the entry if seat is still available.

(a) Is there a pure strategy Nash equilibrium with player 3 getting a seat 7
\ _

(b) Find the set of Nash equlhbna in pure strategy. S 510
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7_ Con51der Bertrand Ollgopoly games w1th n ﬁrms when market demand is D(p)‘— o- p, and'v | ’
Ty

:-for ﬁrm i, cost is C (q) =c ql, _w1th a > c. Fmd the set of Nash equ1l1br1a .. 15

, 'w BertrandaWJTfWR @mﬁ chcfwaﬂﬁmﬁlﬁ Vn‘ﬁ%l me, |
D(p)—a p%aﬁﬂﬁa‘ E%fanwracm—cq,%n ma>c%| mﬁ %m’
-anch of the three ptayers slmultaneous]y announce an mteger 1 2 or 3 If the three mteaers_
' are different, person whose 1nteger is closest to 2/3 of the average of three 1ntegers wins a.

v prlze If two or more 1nte0ers are-same, the pnze is spht equal]y between the person(s) whose o

o mteger is closest to 2/3 of the average

' _(a) Is there any pure strategy Nash equlhbrlum where outcome is not a t1e 7

¥

(b) Find allthepure strategyNash equlhbrla o 3 A 5,10 o
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For the following extensive game of perfect 1nformat10n ﬁnd all. the sub- garne perfect

equ1hb1ra Is the strategy profile (AG, DE) one of the sub game perfect equlllbrlum ? Is it _V
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: Con51der the two stage game on Whlch firm 1 chooses output Kl ﬁrst Flrm 2 observes it

-and then dec1des to enter mcurrmg a cost E, or stay away The dec151ons are based on ‘profit ,

functlons given vbelow :

15

IO = Ky - Ky - Ky

M,.= Ky(I' - Kj = Ky) — E, if 2 firm eiters.

* If firm 2 ‘stays out its uroﬁt'.is zero.

K2 is the output of ﬁrm 2

(@) Find the values of E whlch makes choosmg the monopoly level of output by ﬁrm 1

_ automatlcally block the entry of second f m.

'(:b) . Find the va]ue of E which would make ﬁrm 1 mdlfferem between choosmg output to

- . . i . »

deter and 51mply accommodate entry S S PO 105 A
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8. A daughter has current mcome z > 0 and her father has current income y > 0. The daughter'.‘

can choose some § out of her income to save of her educatron next period. In addmon she

v W1ll recelve a transfer t from her father out of his income in the second’ perrod The payoffs

are as follows

Payoff 0 daughter,’ U, = @z~ s)l2 +(s+ ni72,

Payoff to father ..is Ur= (y —'-_t)l—./2 + Ud

(a) Find the _shbgam_e perfect eq'uilibriumvof this.‘ganae. -

(b) Letvs* and t* be the equilibrium choices 'of the garne in‘.part.-(’a) Supr)ose' the father
| is able to pre-commit to ¢" i.e. the transfer is same regardless of her chorce of 5. Argue

that the daughter will actually now save more than s*. = , - 105
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